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Tha Sky Tlralt ia rigsing. For this mation (please support Your anawers): EI

(a) Is tha upward force of tha cahla canstant ar changing? P,
(b} Iz the kinetic energy of tha aelevator constant or changing?

] Is the potentlal enargy of the alevator conatant or changing?

{d}) Is the accalaration of the aiavator zero, a constant othar than zaro, or changing?
{al Is the T M E {kinstic snergy + potential snergy} constant, zerqa, or changing?

Tha Sky Trek Is descending. For this motion please answer questions (a) through (e)
akova.

What is tha average velochy of the Sky Trek for one round trip?
What is tha svarage speoed of the Sky Trak for one round trip?
What is the average angular velocity of tha Sky Trek for one round trip?

Find the height of the Sky Trek using triangulation proceduras. Estimate the mesa of the
Sky Trek with passangera. Calculata the potential enargy of the Sky Trek at the top with
passangars. Agaume the mass of each rider to ba 60 kg.

When the Sky Trek raaches tha top it rotatas with a constant angular veloclty. Assums
an object is released inside the cab at arms length. Describe the mation of the dropped
object with respect ta a parson inslda the cab, Dascribe the maotion of the dropped object
with respect to a person fixad to the earth’s frame of refarance. If the objact was droppad
out over tha adge of the Sky Trek, describe the dropped objects motion a= ssan by an
observer in the rotating cab and by an observer in tha marths frame of reference.
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10,

11.

12.

Rain drops are dripping from the bottem of the Sky Trek while the Sky Trek is moving
upwerd. Describa the motion of tha raindrops with raspect to an observar fixed to the
aarth's frame of refaranca.

Assume you are sitting on a hathroom scale while riding the Sky Trek. Describe during
what part of tha ride the bathroom scale would read:

ia} Higher than your true weight.
i} Less than your true welght.
icl Equa! to your trus weight.

Describa the motion of a bouncing tennis hall inside the cabin whila the Sky Trak is
ascending to the top.

What advanteges are thare to designing the Sky Trek like an elevator with a
counterwalght?

When the Sky Trak raaches the top. which component of the velochty vector becames
2aro?




